SN HETED
HE: 0l MUEE XV (SHHLLL/H
Sol OYMAES X

SH-BH S (BAH) - HRAMY - BLS 01l &k o e SimE=E"
VEERSE 8,073,936 7,773,575 300,361
=2 1,693,752
2 74,000
= 6.306, 184
Olglel MAZE XA (SEHS /WL e - OE) 8,014,135 7,713,774 300,361
=2 1,693,752
2 74,000
= 6,246,383
OlgMags X 2,974,730 4,079,300 A1,104,570
=2 309,000
= 2,665.730
Y UK BLIH FSAY(-FIAS) (D) 370,800 366,000 4,800
=2 309,000
= 61,800
403 XX EHHI S K20l ™ 370,800 366,000 4,800
2 309,000
= 61,800
01 XX EHAI X2 2 = 370,800 366,000 4,800
ODEE -®IIB - Y - SHEX TH N 370,800
2 309,000
= 61,800
120! BIMOHT ALY X| & 1,577,520 2,221,100 643,580
202 01t 3,500 4,000 A500
01 2UHof bl 3,500 4,000 A500
O0lgel QMO AIY X/ 3,500
308 X+l EFH S OI & 1,574,020 2,217,100 £643,080
01 RXSHBARES 1,574,020 2,217,100 643,080
ONYE BAS YN 1,477,000
CEIVPVE=VPYEES 73,500
oML 4 HEX L BEXN 22 N 23,520
OlMEH OIS ¥ HAOY Bas XY 1,026,410 1,492,200 465,790
202 01 Hl 2,000 2,200 A200
NIETE 2,000 2,200 £.200
OOlMEY B3t L WHAOY Ba3 F7 2,000
403 XHXI RIS K20l & 1,024,410 1,490,000 465,590
01 XX EHA Xt =2 = 1,024,410 1,490,000 465,590
O0ZoHd BrofHHl X 182,000
OR0i¢isE 25 Xd 198,000
O MWIlole Zul XE 59,850
007 24 22T A& X2 168,000
OLs H90 HH X 260,400
OQloh L20jd +2 N 28,350
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5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
oOgetHe =012 A XI& 77,910
OAZHUE SFTHAIDME et EHH 25 16,000
O20dSs WA (HAD) X 18,900
oOgZNY L2t FUHIXA 15,000
WY HE U HADREE 4,000 4,000 0
Helnssy 4,000 4,000 0
201 et Y| 4,000 4,000 0
01 At 22|l 4,000 4,000 0
Og=E o=t uIEs 29 4,000
WO L OYEN HH 1,127,773 876,216 251,557
= 30,000
& 1,097,773
2YXN, HS2s4AHl, VHF-0SCS A EFHIE S (= 39,000 47,190 28,190
2)
= 30,000
= 9,000
403 XS S0l & 39,000 47,190 A8,190
= 30,000
= 9,000
01 RXIEHA2E = 39,000 47,190 A 8,190
O0&AILD ALY 2= 39,000
= 30,000
< 9,000
HPRNEH 2H2e] 625,600 579,900 45,700
201 24| 335,600 341,400 25,800
01 AtR 22|l 15,000 10,000 5,000
ONZE sRASL ANE S 15,000
02 324l 320,600 331,400 A 10,800
ONgXNEHd RFH, SHaH & 320,600
202 044l 60,000 60,000 0
01 SO HI 60,000 60,000 0
ONgXNEd 25 & SHHYE &5 S 60,000
401 AIEHI L 2 Y] 230,000 175,000 55,000
01 A& HI 230,000 175,000 55,000
OWYXNEH 3F HH - J12 HIl=cl 200,000
O &H5F ZEHAE & 30,000
M oo T I K 15,173 14,415 758
308 UXIEHSOIA 15,173 14,415 758
01 IXSHBHEXS 15,173 14,415 758
OXHOoH olel2xdl X& 15,173
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SN HYRED
A 0o MUEE KB (SEHYLL/HSLL - OfE)
el THOHOIY L RN FA CEREE]
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
AEOAQIAI LR (HEAY) 405,000 162,000 243,000
403 XX SIS X201 & 405,000 162,000 243,000
01 HX ST 2L E 405,000 162,000 243,000
OAHO MY LX(HE) 405,000
HALA UG H AR MF 43,000 0 43,000
401 AIEHIL 2 THEI 43,000 0 43,000
01 Al& bl 43,000 0 43,000
ODY MR NAXNTH S ARA M 43,000
Ol =X K& 2,391,552 1,534,851 856,701
2 490,652
= 1,900,900
sHoolglel =22 AY U RIE X 87,000 107,000 20,000
308 XX EHH S0/ 77,000 107,000 30,000
N Y EREES 77,000 107,000 30,000
oMol RIS X 46,000
ouoiYe ABH HH L Fye el 31,000
401 AIEHI L2 TSI 10,000 0 10,000
01 Al& bl 10,000 0 10,000
OOl AL ZorL OF MF 10,000
GlEolel SXNY U HHSH X 98,020 92,500 5,520
308 XX EHH S 0/ ® 98,020 88,000 10,020
01 HXSHBL LTS 98,020 88,000 10,020
Ooidoielel SXHSH X 84,720
O0iH0{gel HU2E S X 13,300
ZHoi2el =X N 81,200 104,021 £22,821
307 212+01 & 81,200 87,200 A6,000
NIEEEEETT 67,200 67,200 0
oF+0i2el HRY X8 67,200
02 BIABMMYRE 14,000 20,000 A8,000
OUZ 0ol AE2H X 14,000
WHEs 2EE Xd 498,000 498,000 0
308 XX SHH S0l ™ 498,000 498,000 0
01 HXSHBLRBED 498,000 498,000 0
O0M MHHRY 2HE N 168,000
oNeH WML BE2 X 330,000
PES =X Y Lo 104,500 104,500 0
202 01t 4,500 4,500 0
01 2LHOTHl 4,500 4,500 0
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M HEXED
el MAUSS X2 (sEHNS/HSL - HE)
o ogel EXXA (cte A
% = fE]
2N c2A(3H) - MEANY - BAES Ofl &+ OH a&% Huws2
o%ss sXXNA =& 4,500
308 AtXI S SO0l A 100,000 100,000 0
01 UAXEMBMNEZZ 100,000 100,000 0
O2U=QHA NEotY X2 100,000
ol sXXE =2 45,000 92,000 247,000
403 X HHMS K201 45,000 92,000 A47,000
01 AIXIESHM A28 X 45,000 92,000 247,000
OSBIZNHENH HYlUIlA A=x 45,000
oges N (=1) 10,620 11,800 A 1,180
= 9,000
= 1,620
308 AHXl & xS0l & 10,620 11,800 A 1,180
= 9,000
= 1,620
01 AXEMBMNEEZ 10,620 11,800 A 1,180
oogasIa 10,620
= 9,000
& 1,620
Hgel =9 X&A 950,040 0 950,040
308 AtXIEHAM SO0l A 950,040 0 950,040
01 UAXEMBMNEZZ 950,040 0 950,040
oogel =9 XA 950,040
THELUXNY HAHEHAI (2D) 517,172 525,030 N7,858
= 481,652
& 35,520
308 AtXI S SOl A 517,172 525,030 A7,858
= 481,652
& 35,520
01 IXNESHHBAEEXS 517,172 525,030 AT ,858
OZAHECIXS =4t 2 H A 517,172
= 481,652
& 35,520
=MDlsEg ¥ A Al 1,516,080 1,219,407 296,673
= 864,100
ay 74,000
= 577,980
SAMEH 2E(21) 50,000 92,000 A 42,000
= 25,000
= 25,000
307 QI2t0I ™ 50,000 92,000 A 42,000
= 25,000
& 25,000
02 B HASEZR 50,000 92,000 A42,000
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SN HETED
HE: 00 MMESE NR(SFHSLM/HSSM - OfE)
ool AAD2E2 Y e (cHol: &8
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
FEEREEEERTEE 25,800
= 12,900
= 12,900
OO WEY (YA DT EY L ) 12,000 12,000 0
= 6,000
= 6,000
307 QI2+0| & 12,000 12,000 0
= 6,000
= 6,000
VTS 12,000 12,000 0
OB} HE 12,000
= 6,000
= 6,000
TEB2NY SAAAH N (2D) 243,600 34,800 208,800
= 210,000
= 33,600
308 XHXI € &I S 01 & 243,600 34,800 208,800
= 210,000
= 33,600
01 RXISHBLRES 243,600 34,800 208,800
ONET2INY S&AY 243,600
= 210,000
= 33,600
LATR 3= 52,500 75,000 A22,500
308 XHXI € %I S 01 & 52,500 75,000 £22,500
L EREES] 52,500 75,000 A22,500
oUW Y 2E 52,500
susEEYBL(2D) 40,000 40,000 0
= 20,000
= 20,000
201 Y2yl 1,000 1,000 0
= 500
= 500
01 Ak 2relt] 1,000 1,000 0
oxtsERYUL 1,000
= 500
= 500
307 QI2+0| & 39,000 39,000 0
= 19,500
= 19,500
05 QI2t 9 Er 2 39,000 39,000 0
oxtsERYUL 39,000
=2 19,500
= 19,500
INMEDRAL (2D) 20,000 20,000 0
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A HEXED
HE: 0o MUEE XN (STHSSL/HSLL - OfF)
e 2ADzsEg 42 22 (e &
SN EH S (BH) - MEMY - BYS O &k 2 b HZE2
= 20,000
307 Q120 & 20,000 20,000 0
= 20,000
05 DIZ2HRIEZ 20,000 20,000 0
OJIMESFAH AL 20,000
= 20,000
ANE2ACIHY SADEH (2D)(XE) 6,000 6,000 0
= 6,000
201 LBt A H| 6,000 6,000 0
= 6,000
01 At 2t i 6,000 6,000 0
OXtE&2HyY i s ¥ g8 4225 2 6,000
= 6,000
HE Yol doyE=N2 XN (=2D) 170,640 70,150 100,490
= 151,200
== 19,440
308 XX SHHMSO0IA 170,640 70,150 100,490
= 151,200
== 19,440
01 XA IAEEXS 170,640 70,150 100,490
OFY Hgol A=A 170,640
= 151,200
== 19,440
SAB HESA XK (21D) 400,000 400,000 0
= 200,000
° 200,000
308 XX EHMSOIA 400,000 400,000 0
= 200,000
= 200,000
11 SI2SHUSHEANE A ] 400,000 400,000 0
OZ A2 HES XX S ALY 400,000
= 200,000
== 200,000
T AC Jz=zus 92,040 270,000 N 177,960
308 XX S SO0l A 92,040 270,000 AN 177,960
11 3I2SHUHSEAERAE ALY 92,040 270,000 AN 177,960
oOHEn 43t K& 92,040
Negsd Hd 2 (=22) 16,000 16,000 0
= 16,000
405 XHaHF S HI 16,000 16,000 0
= 16,000
01 Mt =2 SFH S HI 16,000 16,000 0
OXNEEA HH 7Y 16,000
= 16,000
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SN HETED
HE: 00 MMESE NR(SFHSLM/HSSM - OfE)
ool AAD2E2 Y e (cHol: &8

2 - 4 14
SN EE - SR(3A) - MEAY - BES i =2
SANY IR (21) 200,000 0 200,000
= 140,000
= 60,000
308 X EHSOIA 200,000 0 200,000
= 140,000
& 60,000
11 32SoHUHe3 LA 200,000 0 200,000
OEAC J=u=s 200,000
= 140,000
= 60,000
HEUA &0tEII(=1) 32,500 0 32,500
= 25,000
= 7,500
403 XAXISHMSA201 A 32,500 0 32,500
= 25,000
= 7,500
01 XM E2EE 32,500 0 32,500
oA & 32,500
= 25,000
= 7,500
HY2IZH (0L EED)(IIEH/DIEH) 59,801 59,801 0
JlE2&Zdl 59,801 59,801 0
FHAEE JI2Z3Hl 59,801 59,801 0
201 Lt Y| 34,571 34,571 0
01 At 22l bl 34,071 34,071 0
ORAM2YE MRl 34,071
02 BZ22ZH| 500 500 0
ORA2YE 33244l 500
202 04l 19,950 19,950 0
01 =LA 8l 19,950 19,950 0
SN2 2ol 19,950
203 R =&Yl 5,280 5,280 0
04 PN2IHRFTH| 5,280 5,280 0
©31¢2! ol & 440,000 x12& 5,280
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